Aim:  What is the best way to grow the production possibility of an economy?

Topic:  Review of Economic growth graphs and determinants

Document #1:  Measuring Production.

There are two ways to measure production in an economy:  the production possibilities curve/frontier and the long run aggregate supply curve.  
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These two graphs measure the same concept, but against two different
parameters. The concept they both measure is the ideal level of
production/growth/supply of an economy.

Because they both measure the same concept, the factors that shift them (and the
direction they shift) are the same.




The PPC represents the possibility to produce a maximum efficient combination between consumer and capital goods.  Economic efficiency measures both productive efficiency (using resources the least costly way) and allocative efficiency (distributing resources among production techniques in such a way as to produce those goods and services that maximize society’s well being).  
A shift in the PPC results in a permanent greater or lesser amount of total capital and consumer goods/services produced.  

 The LRAS represents the ability of an economy to supply a stable amount goods and services over the long-run regardless of price level.   

A shift in the LRAS will cause a permanent increase or decrease in the stable level of real gdp (total output of capital and consumer goods and services) regardless of price level.  
1)  How are the PPC and LRAS similar to each other?   Provide at least two examples.

Document #2:  Shifting (increasing and decreasing) LRAS and PPC)  


The same factors shift both the LRAS and the PPC.  


Because the moves are permanent, the changes have to be permanent as well.   The determinants of productivity/factors that shift LRAS and PPC are the 
1) an increase in the amount of resources
2) the quality of resources improves

3) efficiency/utilization of resources

4) a technological advance that increases productivity.

Remember, resources are:  stock of physical capital, human capital and natural resources, so the rate of and levels of growth, of investment, improvement (including skills), utilization and efficiency of these factors (and technology) will change (shift) our economic efficiency. 

1)  For each determinant of productivity, write down why it is necessary that that is one of the determinants.   


Document #3:  Can the government do anything to encourage growth?

The government and the Federal Reserve can help to encourage growth with the following Stimulating Levers of Growth:  

a)  increasing savings and increasing supply of loanable funds:   increased savings will increase the supply of loanable funds, decrease interest rates and spur investment or increases in the capital stock.  With fiscal policy, tax incentives are the principal method to increase savings.  With monetary policy, expansionary monetary policy increases the supply of loanable funds.      

b)  increasing government support for basic research:   will stimulate research and development.  



c)   improving the quality and capabilities of the labor force:  skill and education level are important in a workforce.   Workers can be more productive with a given level of capital and technology.  The government can do this with supporting education and vocational training.   


d)  Supply-side economics:  Some economists advocate Supply-Side Economics to encourage resource availability:  Policies that focus on business’s ability to expand and invest (such as tax breaks for businesses, lower interest rates and reduced business regulation) will help lead to increases in one to all of the determinants of productivity.  
  
e)  international trade:  sometimes an economy can only produce so much with the resources it has.  Because we’ve gone soft and don’t take what we want from other countries like a boss, the other way to shift the PPC and LRAS forward is trade.  Trade is determined by determining comparative advantage of production.  Getting the most from comparative advantage by encouraging international trade will also stimulate growth throughout the world.  

1)  How would monetarists argue that the Fed can be used to increase productivity?
2)  How can fiscal conservatives argue that supply-side economics can be used to increase productivity?
Document #3:  How is growth measured?  

Now that we know how to increase growth, the next question is how is growth measured numerically?   Growth and output are measured by Real GDP – gross domestic product.  Nominal GDP is not adjusted for inflation, so to tell if a country is truly growing, inflation must be accounted for, so RGDP is ultimately our measure of productivity.   RGDP can be theoretically considered as:  real gdp = labor input x labor productivity.  However, more numerically, it is measured as Consumer Spending + Investment Spending (Capital and inventory investment) + Government Spending + Net Exports (Exports – Imports) (C+I+G+Nx)  


GDP can be measured as a total sum of these.   GDP can also be used to figure out the national income and GDP per capita shows the average output per person/average national income – our the standard of living.  
1)  Why is it important to measure RGDP instead of NGDP for determining growth?  
